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John bought 7 bags of cement and 3 bags of gravel.
The total weight of these bags was 215 kilograms.

(a) Write down an equation to illustrate this information. 1

Shona bought 5 bags of cement and 4 bags of gravel.

The total weight of her bags was 200 kilograms.

(b) Write down an equation to illustrate this information. 1

(c) Calculate the weight of one bag of cement and the weight of one bag of
gravel. 4

Answers:

Choosing c for the weight of a bag of cement and g for the weight of a bag of gravel:
(a) 7c+3g =215

(b) 5¢c +4g =200

(c) Bag of cement: 20 kg. Bag of gravel: 25 kg.

This resource is free to distribute and use on a non-commercial basis. Visit Maths.scot for notes and worked examples for every National 5 Maths topic.


https://www.maths.scot/

